{Ht4 - F9)

. Wt & AT T AT iy
=N,
B R
=
1. KkMRiE
(1) FAE-Fy R
S k(85400 M1O0X16an ke 18 i . 178
A AL & (85400) MI2x1 6on M ke 59 59§ g
7ML b (55400) M10X20nmm 9/kg 78 78 [
Al b (5540m M12X20mm . ke 159 159 55
Al b (55400} M14X20me M.k 174 174 T
etk b {85100 M16X20pn ./ ke 132 132 137
7l kB {55400) M10X2G6ne M. kg 178 178 78
AL - (55400) M12%25pm m/kg 159 159 50
Al b (55400} M14XZ25mm M./ ke 174 174 4
FghAOL B (55400) M16X25m 19./kg 13 132 2
Fafinsligl b (55400 M10x30mm H./ke 17 178 178
Afadl b (55400 M12X30ms M kg 15 154 58
AL R (55400) M14x30nmm ke 174 171 74
A Ml +_(SSADI. M1 8xd0ne . kg 3 132 32
AR T {35400) M20X3 0me ./ ke 2 132
Pty B (5sanm M2 2X30ps 1./ ke 7 137
AAL - (55400) M24X3 0nn 1./ kn 142 142
AMAN T (55100) M10x35m M./kg 174 178 78
AR~ (55100 MI12X35m M. ke 159 159 0
Fdadiil b (55400 M14xX35m M./ kg 174 174 74
AL b (85408 MI1IGX35mm 1) ke 132 1 [
AR - (58400} M20X3 5z M/ kg 13 1 132
FAL (5500 M2 2X3 5o I/ ke 13 ] 37
F sl gl b (854000 M24%X35m 'L/ ke 14 4 42
A+ BS400 M1 0X40ms ke 178 17 78
AL+ (85400) M12X4 (me Mrke |7 / /
AN b (5800 M14X4 Den ke 174 174 174
AL B (83100 M16X4 0 M ks 132 132 132
A fatil b (S840 M2 0X40mm Ak 112 132 132
S k- (85400) M22X40m M. ke 137 137 137
Al b (55400 M10X4d5m 1. kg 178 118 178
AL b (55400 M12X45m M ke |/ / /
Al b (851003 M14Xd45mm Lk 174 74 174
ASF b (55400) M1 6xdSmm M./ ke 132 32 132
Fig b (88400 M18X45mm B ke 227 27 227
A b (55400) MZ0X45m A/ ke 132 132, 132
k1B EEG (il s 1/14
. [A4IE : P}
B Bk ey L2 Wi
qATH | 7AIH | 1IATA v
AAFIL (354003 M2Z2X45am M.~ ke 13 137 137
AL - (58400) M24xX4q5m ML ke 14 142 142
ZofnAt)L b (5840D) M10X50m Pl ke 17 178 178
AN b (55400) M12%X50ma A ke 1/ / /
AN b (35400 M14xX50mm M kg 174] - 174 174
FEA R (S50 M16x5Cmn M. ke |/ / /
FUhsi L (85400} M18X5(Om M./ ke 21 227 227
FMAUL (55100 M20X5 Dan Mk |/ / /
At b (35400) M22X50nm Mke |/ / /
F AL+ (35400) MZ4XS 0 N./%ke |/ / /
Z AL F (540D M30X5 One B/ ke 184 194 194
75 467381 b (85400} M1D0XS55m 1rke § - 178 178 178
Sl b (88100) M12XG55m M ke |/ / /
7S il b (S5400) M14X55m Pl kg 17 174 174
Fedn:t L b (S8400) M1 6X55m 1/ ke 2 [EF} 132
Afa b (88400} ML EXG5 G A/ ke 1 27 127
# Ml b (554003 M20X55mm [k 1 3 i
AR b (8500 M2 Z2X5 5 M./ ks [37 37 1
A k(35400 M24X55m M. ke 42 142] - 14
AL F (55400) M3 0X550m 1./ ke 9 134 184
AN R (55100) M1 0 X6 Onm ke 8 178 178
AfFl - (S50H M12X60mm M ks |/ / /
AIEEN F(R5400) MiI4AX60nm N/ kn 174 174 174
ATV (55400 M1BX6 Oon ke |/ / /
FfAL b (ssdn0y M1 8XE Dnw ke | 227 227 227
Al b {35400 M2 0X6 Oun Y ke |/ / /
7)) b (55400) M22X%60m M ke [/ / /
AL (55400 M24X60mm n. ke 3/ -/ /
AL R (554003 M3 0XE Qo ke ] 9 494 194
7 AL B (58100 M3 6 X6 0 M kg 17 17 L7
il b (55400) Mi0XB5mm M./ ks 7 78 178
ARl b (S5400) ML12X65m M ke |/ / /
FAE b (55400 M14X65m M./ ke 4 174 17
FAA I B (854003 M16X65m ke F 2 . 13
75 AL (854003 M1 8X65mm A ke 7 22 22
AL b (384i0) M2 0X6 G M. kg 132 13 132
AL b (55400) M22X65m A./ke 137 13 137
Fofh )L b (55400) M24XE5m Ml ke 142 142 142
AN F (83400 M3 0 X6 5mm M. ke 194 1l 14
AL b (55400 M3 6X6Amm 10/ ke 217 217 21T
KIBUEAEER (s 2714

154



Uit 73)

=) . Eﬁﬁ

# L BE B R T 7AIE | IETE Lk
7oL - (55400) M10X7Dm M. ke 178 1781 173
SRl bk (§5400) M12X70nn M. ke i/ / /
AT b (55400) M14X70mn B ke 174 174 174
Al b (554000 M16X70m M ke b/ / /
ARl k(554003 M18X70mm B ke 220 220 227
ARARI (55400 M2 0X70mn M/ ke |/ / /
A+ (354000 M2 2X70m P ks |/ / /
AR R {85400 M24XTQm M ke |f / /
FmAN R (35400) M30XT 0 M. kg 194} 184 94
FAFN T (35400) M3GBEXT0mm A kg 217 217 3K
AAAL R (55400) M1'0X75mn A ke 178 178 ]
REFI - (SSD) M12X75m H ke 5 50 150f
AR (85400) MI14%75m M. ke 4 4 174
AR (§5400) M1E6XT75um Mk 2 132
F Al k(55400 M18X7Son M. kg 777
FoAR) b (55400) M20X75mm B kg 132 132 132
AR L (55400). M22X75mm B ke g i 137
FfamIL (55400) M24X75m M/ ke 4 42 142
AN ($8400) M30GX75mm g 94 4 194
AfediiL b (55400) M3&EXT75mm H-%g 217 217 217
FAAtl b (55400) M10X80me g/ke 206 206 206
AR (55400) M12X80m M ke |/ / /
Pl b (85400} M14X80mE M. ks 202 20% 202
FAAL b (554003 M16X80mn M ke |/ / /
AAFIL (554003 M18X80na A ke 220 220 . 277
FAFIN T {55400} M20x80nn A/ke if / /
A AN T (35400) M22x80m M/ ke )/ / /
AT {85400 M24X80m M. ke |/ / /
AR - (55400) M30X80mm M.k 04 194 194

AR R (8500) M3 68 0my B ke 17 T 17
AR E (55400) M4 2X80m M/ ke 40 240 40
ARk (53400) M10X85mm ./ kg 206 206 0f
ALk (55400) M12X85mm ks |/ / /
AR (55400 M14X85m M ke 202 02 02
AL b (53400) M16X85mm Mq./ke 132 32 7
ARk (55400) M18XR85mm M. ke 2 2 T
ARl (53400) M2 0X85mm M. ke 13 13 132 !
Al (55400 M2 2X8 5mm M. ke 13 13 137
A AN b (55400) M24X85mm M. ke 142 142 142
AL (55400} M30X85mn A/ ke 194 194 194
k16FIRER i xis 3/14
_— (Biff : P}

i i B8 T T7AIE | AR W
AN b (55400) M10X90mm B ke 206 208 206
AR~ (554000 M12X9 0o M ke [/ / /
reA A b (58400) M14X8 0nn M ks 202 202 202
ARk (55400) M16X90m M. ks |/ / /
AfAEN b (55400) M18X950m M ke 220 T T
AARN b (55400) M20X%0nmn A ks [/ / /
A~ (55400) M22X30nm M./ ks_|/ 17 /
AR) (55400} M24X50mn M ke [/ 1/ /
AN (55400) M30X90an A/ ke . 194 94 4
A+ (55400} M3 6X9 0mm H. ke 21 [ 7
AR (§5400) M42X9 0nm 9. ke 24 40 4
AR b (85400) M1OX100mn M. ke 206 208 20
AEBILE (S5400) M1 2X100mm Bk |/ / /
AARL R (55400) MI14xX100mn M. kg 202 202 20t
)Y b (554003 MI16X100m M ke 1/~ / /
7o)l b (55400 M18X100m M. ke 220 - 23n 227
AR b (55400} M20X3i00mm M. %z |/ /- Rl
AL+ (854003 M22X100mm ~ A/ke |/ / /
AR ($5400 M24X100mn M. ke |/ / /
FAEN T {85400) M30X100m M./ ke ‘194 [ 94
AR _(35400) M3 6X100m M/ ke 2T 7 17
A (85400) M42X100mm M./ ke 240 40 40
AR (55400) M48%100m ke 305 5 90
Aol k (55400) M10x110m ke 208 06 06
AATIL (55400) M12X110m B/ ke 02 03] - 08
AARN - (55400 M14x110m B ke 02 02 202
AEA) b (55400) MIi6X110am B ks I/ S/ /
AR (55400) MIBx110m Bke 220 . - 220 27
ARl (55400) M20X110mm A.ks 1/ /
AER (58400 MZ22Zx110om M. kg 137 £37 137
AR L (854000 M24x11Cam M. ks 142 4 142
AR - (554003 M30X110mm A ke 194 4 194
AAFI B (55400) M36x110m M./kg 17 fi 217
AR (85400) M42X110ma A ke 40 240 240
FofaAtl b (55400 M48X110m A/ ke 305 300 230
PN b (55400) M10X120nmn M./ ke 206 . 206 206
P - (854000 M12X120m M. ke |/ / /
AR (55400) M14X120m M. ke 202 202 202
AR b (55400) M1G6X120m M ke 1/ / /
7R b (55400} MI18X120m M./ ke 220 220 217

k168 AR SR i s 4/14



O ; F)

i Mt N TR [ T fil &5
AL (85400} M20X120m G/ ke 1/ / /
Al b (55400 M22X120m M.k i/ / /
AAEIL - (S5400) M24X120mm Bk t/ / /-
AL (55400 M3 0X120nm ks 194 194 184
AL T (55400) M36x120m 4./ks 217 217 a7
ozl (S8400) M42x120m ks 240] # 240
AL (58400 M48X120m ./ ke 305 30 a0
AL (85400 M10X130en /ks 206} 0 (118
AL (5400 M12X130m M./ kg 208 05 0k
AL (55400 M14X%130m 1./kg 202 02 02
FAADL - (55400) M16X130m MAke |/ / /
Faftl = (8540M MIBX130m M./ks 220 320 227
SR B 135400) M20X130m M/ke y/ /. !
Al B {85400) M22x130m 9./ke 137 137 137]
L - (S5A0D) M24X130m 'k 142 142 142
7l B {88400) M30X130m 1/ ke 194 194 134
AhAUL & {88400) M36X130m M.k 27 217 217
FfatiaL (35400 M42X130m #./kg 240 40 240
AL - (55400) M4 8X130m 'k 05 305 201]
AMAUL F(85400) MI0X140mm . kg 2 6 206
FofhAL T {85400) M1.2X1 4 0 Tke |/ / /
AL - (85400) M14X140mm ke 202 202 202
AMAIL (35400 M16X140m M. ke |/ / /
FfnAl b {35400) MI18X140m ' ke 220 220 227
AR B (S5400) M20x140m ke |/ / /
AMADL R (35400) M2Z2X140m 1/kg 137 137 137
AL = (55100) M24x140m M.k 142 142 142
AfA )L b ($5400) M30X140m 'I/%E 194 194 194
Aty b ($84003 M36X140nm T ke 2T 217 7
7 At b (354003 M42X140m 4. ke 40 4l 40
F Il b (554000 M4a8xX140m 'L ke 105 [ 90
AP - ($8400) M10X160n M. ke [ 26 206
AL B (58400 M12X150m 4% |/ / /
Fa i)y b (854003 MI14XT50na M/ kg | 202 202 202
Afistr b (554000 MI1GX15Oms MAke |/ / V4
Fofa )L b (554003 M18X150m M, kg 230 220 217
F AR B (85400; M20X1i50m B ke |/ / /
AfARL B (55400) M22%150m M. kg |/ / /
I A (554000 M24X150mn M ke |/ / /
PR b (584003 M3O0X150um M. kg 194 194 194
KGRI O xls 5/14
- {1165 ¢ P2
& Mk e e I T Lk
AMAL (85400} M36X150m './%e 27 217 217]
Fo gL b (58400} M42%X150m 1. "kg 40 40 40}
Al b (554003 MA48X150mm M ke 305 305 a0l
A b (58400) MI10X160m M. ke 306 il 06
AL b (354003 M12X160m I~k 208 08 204
At b (85400 MI4X160mm M ke 202 02 02
BN (35400) MI6X160nmm I'~kg 179 19 i
AR R (35400) M18X160m M/ ke 198 05 03
SEAUL - {85400 M20x1G6dmm I"N.~kg 179 179 179
AMAIL - {858400) M22X160m ./%e 184 154 184
AL B (55400) M24X160m A kg 134 194 184
AApEIL - (88400) M3IO0OX160m aPAT 184 194 134
Fafiul b (88400 M36X160m '/ kR 47 17 217
FAASL T (S5400) M4d2x1B0m 'L ke A0 an 2400
Al b (38400) M48X160pm M.~ ke 05 45 240
AL T (S840 M10X170m M. ke 06 200 206]
sl T (S5400) M12X170m I'/ke 208 208 208]
AL+ (85400) M14X170nm .~ ke 12 202 202
AL B (58400 M16X170m ' ke 179 79 179
FdnsL b {85400) M18X170m 4. ke [ 198]
AAA Lk (S5400) M20X170mm W/ ke 179 179
A b (35400) M22%X170mm 4. ke 8 f :
AfAUL - (55100) M24X170mm N./kg 194 g g
Fofa L T (55400 M3 0X170m .7kg 194 9 }
7l b (85400) M36X170mn AT 217 317 207
7RIl (85400) M4 2X170mm ./ ke 24D 40 240
AAAOL b (58100) M48x170m P/ ke 65 405 204
ALk {35400) M10X1KOm ks 206 206 206/
Al b {85400) M12X180nn kR 2R 208 18]
AL (35400 M14X180mm . ke 202 202 1
FofiAtl B (85400 M16%1 8 O0mm ke 178 179 9
7 MaAOL b (584000 M18%X180m /ke 198 198 g
FefnaAtL - (55400) M20xX180m Pl ks b/ / /
AL+ (55400 M22X180mm M/ ke {/ / K
AMAIL T (35400 MZ4X]80m 8 ke i / .
PRI B (534000 M30X180m M/ ke 194 194 04
AALIL P (8500 M36%180m M. ke a7 17 27
Ffnatl k (85400) M42X180mn M. kg 40 240 40
AR (55400 M48%x1RB0mm ks 5 05 280
AARIL T (55400) M10X190omn A/ ke [ 206 206]
k16b IkER fin.xls 6/14



{BEql 19

; 3}
HE ki W T T TR TETE i
FaAN - (85400} M12X150m M./ ke 208 - 208 0
AR b (854003 M14X190m A kg 202 02 ]
AR (55400) M16X190mm A ke 179 79 7
AATI R (55400 M18X10 0mm M. ke 198 98 98
S b (554003 M20X190on O/ ke 179 179 179
AARI (85400 M22X190mm H.-ke 184 184 134
FFARI b {55400 M24X%x100on B kg 4 194 194
ARV (554000 . M30X190mm B ke 4 194 164]
AL b (85400 M36§X100m B/ ke 7 17 217
AL k(85400 M42X190m B/ ke 24| AG 240
A i)l - (85400) M48X190m ke 0§ 280
AARI T (55400) M10X200mm A ke 06 206
AR (55400 M12X200m M ke 03 208
AERI b (55400) M14X200m M. ke i 02 202
FoAaRIL (58400 " M16X200m M. ke 1 79 179
AAFILE (55400) . MI18X200m M, ke 1 03 198]
A~ (55400 M20X200nm A ks I/ / /
A/ S (55400) M22X200m M/ kg |/ / /
AATIN - (55400) M24X200m M/ ke |/ / /
AaF)E(55400) M30X200mm M. ke 184 194 194
ARAFNE (554000 . M36X200mm A/ ks 7 17 7
AAEIVE (554000 M42X200m M./ ke 40 40 40
gl k(554000 M48X200m M/ ke 05 05 90
FATN [ (55400) M42X220m M.7ks 40 240 240
A (55400) M48X22 0mn M ke (I} a0 290
FuBHRIL I (§5400) M42%x240an A/ ke Al 24 240
FARIE (55400) M48x240am ke 00 3 285
Pl F (55400 M42X260m H./ke 240 40 A0
A - (55400) MA48X260mm M./ ke 305 L5 280
A& (554000 M42X280mm . ke 240] - 40 240
ARk (55400) M48x28 0am A/ ke 05 305 200
RASA b (55400) M42X300ne R. ke A0 240 240
AARIE (55400) M48xX300mm B ke 05 305 200
AAS)NF (SU5304) MEX20nn A/ ke 517 559
AL b (SUS304) M10OX20mm H. ke bl 566
AL (SU5304) M12Xx2 0m M/ ke 3 521 566
75BN b (SUS304) M8X 2 5mn B/ke 518 518 567
Al b (SUS304) M10X25nm M. ke 517 517 568
A - (SU5304) M12X25mm M1 ke 521 521 568
ALk _(SUS304) M16X25m M. kg 474 474 521
K1GEE SR H.0s 7714
=R (34 : [)
akall il B ETE T TATE T OATE ‘ i
Al - (SUS304) M8x30nm B ke 51§ 5186 564! -
Ffad )~ (SIS304 MI0OX30m B ke 52 520 569
Ffal b (S0S304) M12X30m B ke 52 521 568
Fofaail - (S65304) M16X30n M ke 4 473 521
AR b (SU5304) M8X35m M. ke ;b il 561
ARk (SU5304) M10X35m A/ kg 518 - §1 567
AT (S15304) M12X35m A/ks | . 518 51 568
Al b (S15304) M16X35mm M ke | 473 47 521
A faill b (SUS304) MB X4 0on : M. ke 515 510 55
AABNLLE (515304) M10X40m A ke 5ol 520 567
Al b (S15304) M12X400mm. M. ke 520 530[ L]
FegAlL - (5U5304) M16X40on H-ks [ 474 474 h2]
Sl b (S15304) M20xX40mn M. kg 522 § 570
AR - (SUS300) MEX45nn . |[Aske 51 5 *nl%l
- ARV (SUS304) M10X45mm H.ke 52 5 T
AL (SU83nd) M1'2X45mm . M. ke © 52 521 §
AR b (SUS304) M16X45mm A/ ke 474 474
FARIL b (SUS304) MZ20X45m A ke 521 5 569
fFIl - (SUS3nd) MEXS5 Omm .~ ke 5 51 h66
_ AFmiLE (S15304) M10X50mm A ke 5 521 567
AARIE (SI830) M12X50m B ke 5 530 568
AATI T (SIS30D) M16X50m [k 474 474] . 521
AARN ] (S18304) MZ0X50mn B kg hid ] i
AfA)L b (SUS3H) M8X5 5mn M./ kg 520 3 66
ARk (SUS3N4) M10X55nn H./ ks . 518 5 L6 7
AT L (S05304) M12X5Gmn M. ke 521 521 564
AR (SU8304) MI1GX55m H%e 474 474 522
AR B (SUS304) M20X55m . H./ks 5 5 568
7o)l b (SUS304) M8X6 0m M./ ke 5 5 565
i b (Sls304) M10X60m M. kg 5 520
AfaE b (SUS304) M12X60mn M. ke 520 520
FA)r b (SU8304) M16X60nn M./kg 474 474
AR b (SUS304) M20X60on A/ ke 532 522 570
AR (SUS304) M8 X6 Gan _ |MAke 521 521 567
FAA)L - (S15304) M10X65mm M. ke 522 522 368
FoA L - (SU5304) M12X65mm Pl ke 521 521 568
FAR) k(815304 M16X65m0 M/ kg 474 414 5al
AR b (8 4) M20X65mm /ke 5 522 570
AR b (S 4) M8X70mm A.%ke 5 520 566 .
SARNL L (515304 M10X70m A./ke - 520 520 567
k168 R e s 8/14

157



{5 : £

s Wk M e T THIE | ATE bl %
Azl b {8H5304) M12X70mn M ks 521 521 559
Al b {8U§304) M18XT 0mn M. ke 416 475 522
Fofil I (SUS304) M20X70m M. ke 522 522 569
ARV b (S15304) MEX75m M./ ke 520 520]: 569
AL B (slsdod) M1OXT 5mm 1.ke 520 520 568
7oA 1 (SUSa04) M12X75m Pl kg 521 521 568
A AN b (SU5304) M1EXThbmn 11/ ke 475 415 522
AdARN B (SUS304) M20X7 5 M.~ ke 922 had 360).
AfeRIL = (SU5304) MBX8 Omm 17k 519 h19 hGh
Al b (508304) M1CXS Omn 1./ke 521 521 568
AL = (GUSI0 M12X8 Onn ./ ke 524 520 5G4
Sl B (50s304) M1&XHUnn M.ke 475 475 522
Al b (S0S304) M2OX80mn 14.7ke 52% 522 570
AR b (S05304) M10X8 G . ke 520 520 568
AMFL - (SU5304) M12XR 5o F./ ke, 521[- 53] 569
AU B (S0S304Y M16X8Gan 4.k 474 47 521
Aol - (5053043 M2 0X& S 1./ ke 522 52 570
AL b (SUS3O4) MEXY Omm W kn 540 2 h67
Al B (SUS304) M10XY 0an W/ ke 540 2 i)
Al b (SU8304) M12x9 Dnn 1.7 ke 522 52 570
Feffehl b (SUS304) M16X9 Dan 4./ kg 474 474 52
Fodufil b (SU5304) M20X9 0 AN ke 522 52 57
SR E o sisindy MBX10Dnn q.kg 521 52 56
gL > (SUS304) M10X100m [ 522 522 558
R b (SE5304) M12X10Q0om Fi. ke 522 522 569
ARk (S15304) M16X100m M./ ke 474 474 522
AL b (81i5304) M20%1 DO M. ke 522 522 570
WAL (558304} M10X3 5 [9./ke 1. 300 1, 300 1, 450
LA L b (515304} M12X35an Pl ke 1,570 1, 57D 1, 760
AL - (SUS304) MIG6X35am 'L kE . 65 50 LBl
AL b (S18304) M10Xd0on M. kg 26 L1260 A10]
AL b (S1§304) M1 2X40mn |/ ke LAGD . 460 . 640
AL b (51183043 M1 6 X4 Ogn I~k 1. 530 1. 530 1,700
ik b (SuS304} M10X45am 1N/ kg 1, 200 12000 1,330
Bl L - (SIS304) M12%x45mm 1./ ke 1, 470 1. 470 1. 6503
LY+ (SUS300Y M16X4Rnn ke 1,530 1,530 1.71ﬂ_|
WLz L (5183043 M1 0X5 Dam ke 1,170 1 170 1,310
W)L - (SU5304) M12x%5 Dan M./ kg 1. 410 L 410 L 579]
Al b (815304} M1GX5 Don 1k 1,490 490 1-660]
AR jL b (515304) MI10X5 5mn 0/kg 1. 280 . 280 1, A30]
K16 ER I xIs 9/14
- L : /)
3 E .
dh . i R TR T TRIE | OAIS IRl 95
ML 3 (SUsind) M12X55m 1M.ke 1, 480 1, 480 i 650
AL - (SUSENA) M16X56mm 1N ks 1,510 1,510 1, 690
QL3 )L = (SUS304) MIO0XE Omm 1. ks 1, Zdﬁi {24 1,390
m)L b+ (SUS304) M12X60mm ke 1,420} 1, 420 1, 580
ML B (S18304) MIEX6E O M.kg L 440l 1 440 1, 600
ilak )L b (S1i5304) M10XG5mm PL.<kg 1, 230 1. 230 1, 370
ML - (USa04) M1 2X65mm 1. ke 1, 390 1,390 1, 550
Mty B (SUS304) M1 6XG5Hmm M/ ke 430 430 1, 540
ML B (585304) M1OX70m M./ ke L4l AT 1, 350
iz - (Se5304) M12%X70mn 4. ke . 400 . 400 I, 570
s - (SUSI04) M16X7 Omn M. kg 1, 340 L300 . 530
Il ) b~ (SU5304) M10OX7 S 147k I a1l BEET]
i b b (Susaod) M1 2X75mn M ke RE a0 . A40
WLt L b+ (SUS30d) M1E6X76Hm 7l . 350 1, 350 1. 500
I ), b _(SUs304) M1Z2X80nmm Mk 1,200 1. 200 1. 440
LK 2L b (SU8404) M16X8 0nn I~ ke 1, 300 1,300 1, 650
S+ b (55400) M8 . kg 165 G5 165
+w b _($5400) MiQ 1 ke 159 159 159
v k- (53400) MI12 M. kg “163 63
Z o b (55400) M14 o ke 7 57
F b (58400) M16 . ke 30 30
Z v bk (55400) M18 1.7kg 76 176 176
+w b (55400) M20 1./ke 115 E 3
+w b (58400) M22 M/ kg 14 4
g b (88400) M24 1.~k 18
+w b (55400) M30 M./ ke 19 197 197
S b (55400) M36 ki 20 208 08
S b (S5400) M4 2 1t~ ke 2 n1 17
F v b (S5400) M4 8 M. ke 2 205 98
Fw b (SUSI0AY M8 11/ ke 63 581 £09
4w b (SUSH0d} M10 M. ke 796 il 840
Fw b (SUSI04Y M12 Mg [H 915
4w b (SUS304) M14 M. kg 1, 103 1, 103 i 181
+w b (SUS304) M16 ke z 1i2 76l
b (SUSI04) M18 M.~ ks 1, 086 1, 086 i, 161
F b (SUS304) M20 M. ks B4T 4 806
o I (SUS3043 M22 M. ke EET 1,23 1,310
4o b (SUSEN4) M24° F.7ke 187 1,18 I, 264
Jw bk {S6S304) M27 M./ ke . 186 1, 186 I 268
4w b {SUS504) M30 M./ ke 1134 1184 I 264
k164 RS if.xls 10/14



(B : M)

159

lﬁ O
i it py: R THTH b
F v b (SU5304) M36 B/ 1, 253 1,338
Fw b (§U5304) M42 M/ 1,227 1. 313
| $+w b (35400) M8 M. 35 335
HFw b (55400) M10 M./ 98 208
I k(55400 M12 M./ 07 307
8w (554000 M14 M./ 475 475
St b (88400) M1GB A/ [1] 36
e w - (55400) .IM20 [ 456 466
Bt b (55400) M2 2 M/ 97 497
$4 o b (85400 M24 B 526 526
¥Fw b (55400 M27 m/ 73 713
%+ b (SUS304) M8 =V 049 077
i b (SUS304) M10 _ M./ 1,492 , 056
> w b (SU5304) M12 M ke a1 , 059
5w L (S15304) M14 A ke , 44 , 606
153 v - {8US304) M1 6 A/ ks 2, 11§ 2, 253
5w - (SU8304) M2 0 B/ ke 2,260 2,414
&7 vk (505304) M2 4 M./ ke % 2, 384
TR k(53400 M12X160mn M ke 203
J gL b (55400) M16X160mn M./ ke 210
T BRI - (S5400) MI2X200m M./ ke 261 . 261
T EIERER )Y - (§S400) ML1BX200m A ke 189 189
T EJEREF )L F_(S5400) M20X200m A ke 215 215
TG A )l - (S5406) - M12x250m A ke 65 ]
1 BIEEAUL T (55400) M16X250nmm T 75 5
TIEILREAEIL b (S5400) M20X250m M./ kg 07 2
T IEIERADL b (85400) M12X315m B % | 53 53
TIBImAIL {55400} M16xX315nmm M/ ke 66 [T
T IBIEREL b (55400} M20X315am H/ke 80 ]
TIEIEREADL & (88400} M12x%X400en M. ke -230 30
T AL AL B (SS400) M16X400m M. ke of ]
T TRk (35400} M20X400m M. ke 75 78
1 TEERRE )L I+ (85400} M12X500m F. ke 220 220
BRI T (35400 M16X500m M./kg 152 152
TGN T (S8400) M20X500m M. kg 169 1
T g GiaaJl & (55400) M24x50 0 M. Akg 168 ]
T IR B (55400) M2 0X630m A ke 169 169
J BT _(S5400) M24%X630m il 171
T EERFIVE (55400) M2 0X2800m 160 160
TR B (53400 M24x300mm. 152 154]
) k164 AR fH.xs 11/14
. - (B : P1)
n‘?ﬂ.&_ lﬂh“i . IH71E THTH L]
T BRI B (55400) M20X1, 000pn 57 57 157
J IRV B (58400) M24xX1, 000 i 154
T IR B (55400) M24x1, 25 0gn ] 15
L JESEA I | (58400) M12X16 0 20
LEX#AIV I (55400) M12%X200an 2 28
LiEIEE L b (S5400) MIBX200an 89 139
L i) B (55400 ML 2X25 0m [ 266
L L)L I (SS400) M16X250mn 75 75
L B3GR b (S5400) M12X315m 53 53
LIEE#EAL - (55400) M16X315m &6 b6
T el I (S8400) MZD0Dx4l5m 90} o
LEIERADY {55400 M12%X400m 230 230
LIEIRE AL - (554000 M1 EX400m 160 160
L IEJE T - (55400) M20X400m 8 i73
[ L)L - JL55400) M12X500mm 20 2310
| LBkl & _(55400) M16X500m 52 152
1 L0 (55400) M2 0X500m 169] 169
(Z) 3 - $52% - 3 ‘
EOo—5—d 110~i20 e R SC450 B 5 55
[ 1 e 1 e Mg k& 5C450 b g 5
SR Y — (F—AF) DeE Ml s, SC450 3 5
Fo—5—d1l0~120 Eeod ZAM MY, SCHn2R kg 44 3 §44
E0—5—ao110~]120 T ArohinililG  SCMnCrik H./ke 740 140
Fn—5—d110~120 JUAEDT T MBYMIE  SCCrMAB  [MAke 53 6_531
ASAATN B A37iRgiS Pac2 1. ke 2. 08D , 2. 08D
[T EED S EHIEY  LBCY A/ ks 1. 730 1, 0
I A )Y - #IEA Y )Y WiHii_BC 3 M. ke 1, 760 i 0
TRErE O s, T A FLI00 A ke 44 5
R RT AL FC250 B ks 44 45
7 T Fadiidh L2850 M./ke 44 45
[ETERrE) ERJRILELEI 0 FLD450 P1./ke 7 7
ERF TGS (478 FCIS0 M. ke 644 600
IS5y TH# TS Jm.?n (470 FC250 A /ke 434 458
u& 50F (R =) RT3 A0S (470 FCI50  |M. ke 44 k&
REFHE TRRELEIS SRS (1) FCDa00 - 450 |F. ke 831 93
PRFZ e A Shas SCAR) M. kg , 100 600
ATV RIS & SC450 m./ke 100 140
RS cmu 1 jm e AKIEY LT Fl.7m3l_ 140, 000 00
L. I zc_L HEEL N B0ET B,
2. J:!Emrsmmm Liglse L. %%Mmm’iﬁlﬁmlﬁ e:m.
3, R OBMImIETs.
KIBIRER (x5 12/14



‘ - (40 ; 1)
t Wit | i T il 5

(3) AT 2 L AR - R R e Pl e We adaA.

B (FRIND TESERF VARG~ -Rindf |SUS30d 25t 5 M/ ke {/ / /

|__imIb) (FAD TESERFL AR ~ -7@nils [SUS30 3<Ct & 1/ |/ / /
Rl (RN EHEIFILRIMEE  Tdabset [SUSAd G<lt = (d M ke i 10 10 Vo) Bt 6
W AN TR iRl et [SUS3DA i<t 285 Y./ kg 20 20 20 A -X 3t 56
Al CEAN) IEREAFILRSMAME  zabat [SUSSDA  25<Ct Sl ke 0 30 30 -1 A<t Sh
Al (A} fRAEAF AR Ak [SUS30d dD< t S65 Pl ke 40 49 40 N 3t 56
AT L ASHM A At __|sUsand 25 65109 M ke |/ / / -
2 b S 142k SUSHd (i< d =150 .k 20 20 20 A3 55 G100
AT LA ESE SUS3Dd 150 S200 1k 10 <30 i A =2 S G100
ATl ASME A -2k SUS e A .7k 280 250 310[ -
25 LA 135 HL'Srl[H < d =160 Mk 20 2 20 A -3 15S oS00
AL b SUSADY S0 200 M. ke 30 30 30 W WS S100
18R A SN B0 S TS A A A AR SC~SROC_25= G =100 M. ke |/ / /
18 bl B 3T 31 £ 4% S5 13ab5 B [S16C~SE0C  100<Ch =160 B1./kg 2 2 2 A -1 5S4 100
18 b % 30 D1 e B IS 142RT L 56~-S50C 156 ¢ 200 M. ke 4 4 4 -3 BSESHE100
RN e AN T82b3 8 [S16C~S50C  200< & =260 M. ke ﬁ B - A3 BZ <100
RIS L 198 AL MM AL TEARSFE s:l’.c~55nc 250 b S 200 Pl/ke § W2 = g5 100
; W OMMIE<—=2A W TH T AT e R T b7\:f7’;.-'.l{.ill’£ﬁ'f1

g AHIIZ Y %12
. e fi&%ﬁ-‘ﬂlﬂiiﬂ:\hﬁﬂdﬁﬂ) folFIl 12T AR & S00mEL T T 1B i B At & o
(80 TH [ A0 08 ik MM 44 S 150~ SB0C) DM sy B,

(4) KL
KT L (P IRE) e ke 250 250 250
=N ) 26~50 kg 950 , 250] , 250
= ) 50~70 ke 250 2500 750
Y EINTD i 30421t - kg , 250 3, 250 250
KT A (P 26~50 kg 3. 250 4, 250 3, 250
kT L (P} 50~T0 kit 3,250 3. 2510 3, 250
KL (L JE} 204 b4 ke 3 350 3, 2‘{1| 3. 250
KiET A (L) 20~50 ks 3. 250 3, 250 3,250
ks (LB 5G~T0 " 3550 3. 250 250
KiE T ORIy 104z i ke 3. 150 3. 150 150
RET L CRIE 1030 ke 3. 150 3. 150 3. 150
23] LIeAE T DO WRINGE. FiallkOnG Ch o
Lo Sl T A (OO L—0) .
2 MM 14 TN /o2 (150ke~cm?) BAE
3 WK BT AG%
4 BEMRNS AR < A00% LA L
5. B o 2 7 RUEAD~50
Heilc s 1, 25 & Scad
(5) l‘tv#/ (&R A)
k168 A fif.xls 13/14
- (44 ; )
. . » l" L _—
i M "M e oo [ A Uit 23
EERETTEN 00108 Pl 3,790 3,790 3. 700
Ny (FkTha) 600 10H~20H 1./ # 3, 430 3, 430 3,430
e R =) e 193 5, 230 5 730 5. 230
Ry d s (g h) —|700_104~ 208 M/ 8 4,509 4, 500 4,500
NRuyF (kb)) SO0 1OV A P4 7,920 620 7,920
Ry F (GRTH) RO0_IDd~i0F S H 7, 200 . 200 7.200
Ryl (fhsia) 000 It Ao P 9, 00D 9 000 5 100
. M E S (S Th) 900 10K ~20lk e L0 8 &I
S (HkTh) - 000 108k 1M/ B 019 9, 5. 910
N b (fkTh) L 000 _ 104 ~20 8 R M g 009 9,000 5, 000
Nyt (ERITL) 100 Az /K 10, #00] 10 E00] 10, 800
Ny A (BT n) 1,100 10F~80d T/ H 9, 010 9, 8k 5010
NoF (HNdhL) 1200 10Hr AN Y/ 17,700 11, 7a0] - 1% 700
Nuds (FuETh) 1. 200108 ~20%c B 0. R00] 1o §n6|  1p, 80D
Ny ¥ (fkdn) 1,350 10F A 'L H 3,000 13 000f  13.900
;wde‘/( T ) 150 J0H~20H [ 3600 12 600 12, Goo
Ny (BkTh) 1,500 10BN L H 4,400 14.400] 14, 400]
My d > (FikT ) 1, 500 108~20H /B 3.500]  13.500]  13.500
Nwd s (FkRTA) 1 600 108K /¥ 5, 600 5 600 15.G00
Sy (BT - 1600 10Bc~20f ./ 14, 400 4.400f 14, 400
M (k) 1 660104 i 1, B 17, 600 7.600] _ 17. 600
SNy F o (G 1. 650 104 ~2048 . 1. ¥ 400 B, 200 . 200
Ry (kTR T /B , 000 8 000 000
NwFr (FuEThH) L B00 1 0Hc~208 P , 100 8. 200 200
RoF o (FRTL) . 000 10BCRN Pt , bog £, 600 1. 600
Nk (BIETL) 000 10H~ 201 [P 15, 500 5, 800 5. 840
Nyt (FikTL) 1 800X 600 10BCGEM 1./ # tD. 500 G, 800 7. 800
N (GhTh) 1 A0 2 600 108~20Hk 0/t g.910 3000 9,910
EPEA =S 3, 000X 2, 000 10Kk N/ 10.800] 16, R00] 10, 800
R Fds (EETh) 3 000X 2. 500 108~204 19,/ 8 IL7oel 1t 7000 11700
k16U IR [l.x1s 14/14

160





